8 7 | 5 4 3 2
ITEM|PART NO. DESCRIPTION QTY.| WEIGHT T o T = ——
1 |PBP10 »1.5"- ©3.5"0.D. Pipe Clamp Half 2 |0.69 LBS A INITIAL RELEASE ACG 08/17/21
2 |GD031200 | 3/8™-16 UNC x 12" Galv Threaded Rod (A307) | 2 [0.37 LBS
3 |GWFO03 3/8" GALV USS FLAT WASHER 10 [0.01 LBS
4 |GWLO3 3/8" GALV LOCK WASHER 10 [0.01 LBS
5 |GNO3 3/8-16 UNC GALV HEX NUT (Gr.5) 10 [0.02 LBS
/2\ PIPE SOLD SEPARATELY
($2.38"- $3.5"0.D.)
°°° CABLE BLOCKS
SOLD SEPARATELY
& 0 ﬂ‘
(12.0[304.8]) -
| - -
1sofzs.1] ] B B H H—
1. ALL METRIC DIMENSIONS ARE IN BRACKETS. ALL DIMENbS}I/OY\IVSAA’\I:{E(I?\I miﬂﬁsaﬁtc?!"g = ik "Nt PIMBLOCKER™ PIPE HOUNT CABLE BLOCK ASSENBLY
TOLERANCES UNLESS OTHERWISE SPECIFIED: WE: WATERWC DRANING TYPE:
/2 INSTALL HARDWARE TO TORQUE OF 10 FT—LB TO 15 FT-LB :gix; iﬁ 1§$O facows b1/ || TR | ASSARLYORAVING
FOR OPTIMAL PIM MITIGATION. REHNEBRRS D REAKEDGES O AL
DO NOT SCALE THIS PRINT 2.80LBS
6 5 4 ' 3 ! 2




